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QUESTION NO: 1
What should be taken into consideration when your company facilitates working remotely?

A. Remote workers need faster equipment than workers in the office.
B. Remote workers need instant messaging tools.
C. Remote workers need to feel part of the whole.

Answer: C

QUESTION NO: 2
Which puts IT in an excellent position to contribute to a sustainable world?

A. IT is not a big consumer of electricity.
B. IT does not create a lot of waste.
C. IT can help other industries to work more efficiently.

Answer: C

QUESTION NO: 3
Green IT has many obvious advantages but some of them are less tangible. What is an
example of a less tangible but real advantage of Green IT?

A. Cutting down on travel expenses
B. Enhanced employee attraction and retention
C. Reducing the costs of paper and ink.

Answer: B

QUESTION NO: 4
Which of the following statements is true?

A. Avoid using screen savers for long periods because they don't reduce energy use and
may keep the computer awake when it would otherwise doze off
B. Use screen savers for long inactive periods because they reduce the energy use and
put the computer in a sleeping mode
C. Alternative A is true
D. Alternative B is true

Answer: A



QUESTION NO: 5
Using too much lighting is of course raising the energy bill unnecessarily. What is another
important human reason for not applying too much lighting?

A. It takes too long to switch them all on and off.
B. Too much lighting can irritate people on a physiological level.
C. Too much lighting generates more heat.

Answer: B

QUESTION NO: 6
Which shortcoming is hindering the wide adoption of videoconferencing?

A. Missing the feeling of connectedness
B. The feeling of being watched
C. The lag between picture and sound

Answer: C


